11 8

09 15
( )
1 30 (1, 650, 000) 1, 815, 000
09: 15 (24) 1 . 0 |6
2 ( ) 1008 (8, 220, 000) 9, 042. 000
09: 20 () 1 1 . 0 |19
3 28 (14, 600, 000) 16, 060, 000
09: 25 1 . 0 |19
4 3 (7. 600, 000) 8. 360, 000
09: 30 1 . 0o |4
5 6 (1, 320, 000) 1, 452, 000
09: 35 1 1 . 0 |11
6 13 (4, 000, 000) 4, 400, 000
09: 40 1 . 0 |15
7 5 (1, 770, 000) 1, 947, 000
09: 45 1. 0 |7
8 35 (12, 000. 000) 13, 200, 000
09: 50 1. 0 |19
9 1 (1, 500, 000) 1, 650, 000
10: 00 1 1




11 14
09 15

1 131 (25, 000, 000) 27, 500, 000

09: 15 1 0 |7
2 132 (5. 200, 000) 5, 720, 000

09: 20 1 . 0 |11
3 18 (20, 000, 000) 22, 000, 000

09: 25 1 . 0 |13
4 36 (5, 240, 000) 5, 764, 000

09: 30 1 . 0 |19
5 16 (1, 100, 000) 1. 210, 000

09: 35 2 . 1 9
6 22

09: 40 1 0 |18
7 4 (9, 150, 000) 10, 065, 000

09: 45 1 . 0 |11
3 54 (3. 300, 000) 3, 630, 000

09: 50 1. 0 |4
9 48

09: 55 B 1 0 |11




11 21
09 15

1 50 (49, 500, 000) 54, 450, 000
09: 15 1. 0 |18
2 29 (6. 500, 000) 7. 150, 000
09: 20 1 . 0 |6
3 32 (2. 350, 000) 2. 585, 000
09: 25 1 . 0 |17
4 ( (19, 400, 000) 21. 340, 000
09: 30 1 . 0o |7
5 56 (2, 070, 000) 2,277,000
09: 35 1 . 0 |15
6 23 (17. 500, 000) 19, 250, 000
09: 40 1 . 0 |4
7 16 ( 700, 000) 770, 000
09: 50 1. 0O |6
8 5 (580, 000) 638, 000
10: 00 1 1




11 28

09 20
( )
1
09:20 1. 0 |7
> o (182.400.000) 200.640.000
09:30 1 . o0 |11




1)

30

(24)

11 8

15

11

14

1, 815, 000

1, 700, 000

1, 880, 000

1, 650, 000

6, 000, 000

11




1)

() 1008
() 1
\=647n3 L=53m
11 8 20
11 12 3 31
9, 042, 000
8, 220, 000
1
8, 220, 000
11 11 2 11 11




28

1 HPPEp 50mm L=236. 4m 2
HPPEp 50nm L=144. Om N=1 N=7
11 8 9 25
11 15 2 1 20
16, 060, 000
15, 240, 000
14, 930, 000 4
15, 100, 000 8
14, 920, 000 3

15,230,000 | 11

15, 000, 000 7

14,950,000 6

15,000, 000| 7

15, 100, 000| @

15,200,000 o
15,000,000{ 7
14,600,000 1!
15,200,000| o
14,940,000 5
14,900,000| =2

14,930,000 4

15, 100,000| s

15,210,000 10

15,200,000 °

15,000,000 7

11 14 2 11 14




1)

3
L=421. 97m A=2190n2 A=2190n2
L=420m

11 8 30
11 12 2 28
8, 360, 000
8, 070, 000

7, 660, 000 2

8, 000, 000 4

7, 600, 000 !

7, 700, 000 3
11 11 2 11 11




1)

6. 0m

(t=10 ) L=18.4m

(HEO. 8n) L=7

11 8

35

11

1, 452, 000

1, 383, 000

1, 350, 000

1, 380, 000

1, 380, 000

1, 320, 000

1, 370, 000

1, 380, 000

1, 360, 000

1, 382, 000

1, 380, 000

11




1)

13

11 8

40

11

28

4, 400, 000

4, 270, 000

4, 096, 797

4, 240, 000

4, 130, 000

4, 150, 000

4, 260, 000

4, 100, 000

4,100, 000

4, 140, 000

4, 140, 000

4, 250, 000

4, 030, 000

4, 200, 000

4, 000, 000

4, 150, 000

11

11




1)

11 8

45

11

28

1, 947, 000

1, 800, 000

1, 770, 000

1, 800, 000

11




1)

35
2 703. 06n2
11 8 50
11 13 2 28
13, 200, 000
13, 060, 000
12, 000, 000 1
12,410,000 2
11 12 2 11 12




1)

11

11

10 00

11

12 27

1, 650, 000

1, 500, 000

11




1)

131

1800n2

11 14

15

11 15

31

27, 500, 000

25, 600, 000

27, 000, 000

26, 000, 000

25, 000, 000

27,000, 000

26, 000, 000

27,500, 000

11 14

2 11 14




1)

132

))

11 14

11 15

5, 720, 000

5, 700, 000

5, 200, 000

5, 600, 000

5, 400, 000

5, 420, 000

5, 650, 000

5, 400, 000

5, 600, 000

5, 800, 000

5, 700, 000

5, 460, 000

11 14

2 11 14




1)

18

N=1

L=1. 43km

L=1. 43km

11 14

25

11 15

31

22, 000, 000

21, 000, 000

21, 800, 000

21, 800, 000

20, 500, 000

20, 500, 000

21, 000, 000

22,000, 000

20, 700, 000

20, 250, 000

20, 000, 000

21, 000, 000

20, 900, 000

21, 600, 000

11 14

2 11 14




1)

36
198.68n8( 3 )
11 14 30
11 20 2 28
5, 764, 000
5, 250, 000
5,240,000 *!
11 19 2 11 19




1)

16

1 65n2
( )
11 14 9 35
11 15 2 3 15
1, 210, 000
1, 300, 000 1, 200, 000 1,100,000 !
1, 500, 000
1, 650, 000 1, 280, 000
1, 400, 000 1, 250, 000 1,180,000| 2
1, 500, 000
1, 600, 000 1, 280, 000 1,180,000 2
1, 600, 000
1, 500, 000

11 14

2 11 14




1)

22

N1
@ 25mm N=1

@ 50nm N=3
@ 20mm N=1

¢ 30nm N

11 14

9, 090, 000




1)

( ) A=T46n2

11 14

45

11 16

17

10, 065, 000

9, 718, 000

9, 680, 000

9, 150, 000

9, 500, 000

9, 700, 000

9, 600, 000

9, 180, 000

9, 600, 000

9, 440, 000

9, 600, 000

9, 500, 000

11 15

2 11 15




1)

A=540n2

11 14

50

11 15

31

3, 630, 000

3, 516, 000

3, 300, 000

3, 450, 000

3, 340, 000

3, 400, 000

11 14

2 11 14




1)

A=88n2

300300 A=182n2

11 14

55

11, 383, 000




50

L=51m L L=119m
L=17m P R P32n% 0 L=MN=7
L=157m L=132m
N=3 A=78m2
11 21 9 15
11 22 2 3 31
54,450,
51,081, ( )
50,50 5
51,00 6
51,00 6

50, 50 5

50, 00 4

50, 00 4

51,00 6

51,00 s
50, 50| 5
50,50 5
49,90 s
51,08 | 7
49,50 | 1

51,00 6

49,80 2

11 21 2 11 21




1)

29

L=0. 73km @ 400 L=90m ¢ 350 L=120

m ¢ 300 L=390m ¢ 200 L=130m ¢ 75 L=390m

11 21

9

20

11 22

2

3 23

7, 150, 000

7,100, 000

6, 800, 000

6, 500, 000

6, 550, 000

6, 900, 000

6, 600, 000

11 21 2 11 21




1)

32

11 21

25

11 22

28

2, 585, 000

2,480, 000

2, 350, 000

2,480, 000

11 21

2 11 21




1)

() 3
L=54n{7.3n{  1)+46.0n{  2)=53.3n)
11 21 30
11 23 2 29
21, 340, 000
19, 845, 000
19,840,000| 4
19,750,000 3
19, 841,000| s
19,700,000| 2
19, 840,000| 4
19,400,000, '
11 22 2 11 2




1)

56
L=59m 30 10 ) A5n2
30 )AATR2 @ (t=10 )A=46n2
t=10 )A=46n2
1 21 9 35
11 22 2 3 15
2, 277,000
2, 080, 000
2,080,000| 2
1
2,070, 000
1 21 2 11 21




1)

23
L=613. Om V3. Om A=2206n2
A=2265n2
11 21 40
11 26 20
19, 250, 000
18, 548, 000
17, 600, 000 2
18, 200, 000 3
17, 500, 000 !
18, 200, 000 3
11 25 2 11 25




1)

16

11 21

50

11 22

29

770, 000

950, 000

700, 000

850, 000

920, 000

800, 000

11 21

2 11 21




1)

11 21

10 00

11 22

12 13

638, 000

580, 000

11 21

2 11 21




)

11 28

20

23,400,000
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